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__B__1.  The study of interrelationships between plants and animals and their physical environment is


a) botany.
b) ecology.
c) general science.

d) zoology.

__A__2.  Matter


a) has mass and occupies space.

b) can be either potential or kinetic.


c) has the ability to do work.


d) exists only as solid.

__B__3.  India’s family planning program has been


a) completely unsuccessful.


b) centralized.


c) just beginning in the past few years.

d) proclaimed the best program worldwide.

__B__4.  The world replacement level fertility rate is


a) 1.5-1.6.

b) 2.3-2.4.

c) 2.9.

d) 8.0-8.5.

__D__5.  China’s family planning program includes


a) economic penalties for too many babies.
b) health care for small families.


c) decentralized educational services.

d) all of the above

__C__6.  The major contraceptive used in China is the


a) pill.

b) condom.
c) intrauterine device (IUD).
d) sponge.

__D__7.  Heat in an ecosystem is influenced by the


a) tilt of the earth’s axis in relation to the sun.
b) ecosystem’s latitude.


c) ecosystem’s altitude.



d) all of the above

__B__8.  Pioneer species


a) end the successional process.
b) are tolerant of very harsh conditions.


c) dominate climax communities.
d) usually replace equilibrium species during succession.

__C__9.  The official goal of economic development to regulate population growth is


a) provide women with legal abortions.


b) assist couples in having enough children to care for them in their old age.


c) encourage couples to want fewer children.


d) help couples have only as many children as they want when they want them.

__C__10.  What is the major driving force behind the nitrogen cycle?


a) respiration and photosynthesis

b) evaporation


c) activities of bacteria



d) erosion

__D__11.  Which is not typical of China’s family planning program?


a) readily available abortions


b) decentralized family planning


c) economic incentives and disincentives
d) no effect on fertility rate

__D__12.  Where are the world’s largest deserts?


a) near the equator



b) at the north and south poles


c) upwind of mountains



d) at 30 degrees north and south latitude

__A__13.  Which is not a part of the abiotic portion of an ecosystem?


a) consumers
b) sun

c) chemicals

d) fresh water

__A__14.  Estuaries, oceans, and freshwater lakes and rivers are general types of


a) aquatic ecosystems.



b) terrestrial biomes.


c) food webs.




d) none of the above

__D__15.  Limiting factors


a) set carrying capacities.


b) determine whether some organism can or cannot be present.


c) can be simple chemicals like phosphorus and nitrogen.


d) all of the above

__D__16.  According to the video “The People Bomb”, how much greater an environmental problem is the 

birth of a child in a developed country compared to the birth of a child in a developing country?


a)  2 times
b)  5 times
c) 10 times
d) 30 times

__B__17.  An example of a gaseous biogeochemical cycle is


a)  phosphorus.

b)  carbon.

c)  hydrologic.

d)  bacterial.

__C__18.  An animal that feeds only on animals is a(n)


a)  herbivore.

b)  autotroph.

c)  carnivore.

d)  omnivore.

__D__19.  Because its population is growing rapidly, Sri Lanka probably has a(n)


a)  high fertility rate.


b)  large difference between birth and death rates.


c)  age structure dominated by young age groups.


d)  all of the above

__A__20.  Most of the nitrogen reserves are located in the


a)  atmosphere.

b)  rocks.
c)  water.
d)  living plants and animals.

__C__21.  The movement of energy through an ecosystem differs from the movement of matter 

      through an ecosystem because, unlike matter,


a)  energy can be both created and destroyed.


b)  energy is not essential for life to exist.


c)  considerable amounts of energy are lost to the environment as heat.


d)  energy can be reused or recycled many times.

__D__22.  Organic chemicals are found in


a)  living things.

b)  coal and oil.

c)  dead things.

d)  all of the above

Sun ------( plant-----(grasshopper------(snake------(bird

__B__23.  How many trophic levels are illustrated by the food chain shown above?


a)  5

b)  4

c)  3

d)  2

__B__24.  What role does the snake have in the food chain in #23?


a)  secondary producer

b)  secondary consumer


c)  primary consumer

d)  tertiary consumer

__B__25.  During ecological succession, equilibrium species


a)  occur at he beginning of the process.


b)  occur at the end of the process.


c)  can survive very well in the absence of soil.


d)  none of the above, because there is no such thing as succession

__B__26.  What type of succession takes place in a soil-covered area where all life has been destroyed?


a)  primary

b)  secondary

c)  tertiary

d)  quaternary

__C__27.  What keeps raising the earth's carrying capacity for humans?


a)  famine

b)  disease

c)  cultural evolution
d)  war

__B__28.  Which organisms are natural recyclers?


a)  consumers.

b)  decomposers.
c)  humans.

d)  producers.

__A__29.  A measurement of the rate at which plants use photosynthesis to convert solar energy into 

chemical energy stored in plant tissues is


a)  primary productivity.

b)  abiotic productivity.


c)  secondary productivity.
d)  kinetic productivity.

__D__30.  Most carbon  reserves are located in the


a)  water.

b)  soil.

c)  rocks.

d)  atmosphere.

__A__31.  The process of economic development reducing birth rates

a)  has not been completed in many African nations.


b)  is very difficult to achieve in most developed countries.


c)  has not been completed in any European nation.


d)  all of the above

__D__32.  Policies that countries may use to reduce family size include


a)  delayed marriage.

b)  greater job opportunities for women.


c)  old age pensions.

d)  all of the above

__C__33.  According to the second law of energy, low-quality heat energy


a)  can be concentrated and converted into other forms.


b)  is more useful than other types.


c)  is produced every time energy is changed from one form into another.


d)  is conserved within an ecosystem.

__D__34.  The amount of rainfall in an ecosystem is influenced by


a)  oceans and large lakes.
b)  mountain ranges.


c)  the ecosystem's latitude.
d)  all of the above

__D__35.  What is the best term used to describe the community at the end stage of succession?


a)  pioneer
b)  tolerant
c)  changing
d)  climax

__D__36.  Inorganic molecules are found in


a)  living organisms.


b)  dead organisms.


c)  things that were never once alive.
d)  all of the above

__C__37.  The law of conservation of matter states that matter


a)  cannot be changed from one form to another.

b)  has mass and occupies space.


c)  cannot be created nor destroyed.

d)  caves into itself to produce anti-matter.

__D__38.  The total amount of pollution in the environment is dependent on


a)  population size.




b)  resource use per person.


c)  pollution per unit of resource consumed.

d)  all of the above

__A__39.  An important aspect of food web dynamics is that, as one gets higher up or further  along the 

web,


a)  there is less available energy.


b)  usually more animals can occupy the higher trophic levels.


c)  there are fewer of the types of animals humans consume (especially in aquatic systems).


d)  none of the above.

__D__40.  Which of the following are increasing for humans worldwide?


a)  birth rate

b)  death rate

c)  fertility rate

d)  none of these

__A__41.  Carbon leaves food webs via the process of _____ and enters via  the process of ____.


a)  respiration, photosynthesis

b)  photosynthesis, respiration


c)  photosynthesis, decarbonation
d)  nitrogen fixation, respiration

__C__42.  Secondary succession


a)  begins where no soil is present.


b)  is initiated by equilibrium species.


c)  begins more quickly than other types of succession.
d)  all of the above
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Answers for 43-46
__C__43.  Archey’s frog


a)  threatened by brown streak disease in Africa

__D__44.  new mammals, birds

b)  plastic bags and other garbage in stomach

__B__45.  gray whale


c) habitat threatened by mining in New Zealand

__A__46.  cassava plants

d)  discovered in New Guinea






e) inhabits artificial reef near Key West, FL

__________________________________________________________________






Answers for 47-50
__B__47.  MIT airplane


a)  much smaller than expected

__D__48.  no-fishing zone

b)  70% fuel savings

__E__49.  green burials


c)  recently discovered, may be threatened

__C__50.  deepwater reef

d)  prohibited in 37% of Gulf of Mexico






e)  enhances decomposition

